BSAA

Practice Punnett Square Review

1. 
Dominant 
H (Long Hair)

Recessive 
h (short Hair)


Identify the dominant Allele: _______


Identify the allele that will be masked: __________


What will a Heterozygous Parent Physically look like: ________________


What will the Heterozygous Parent have genetically: __________________

 
Original Cross A: Hh X hh



What are the offspring’s phenotypes: & %




__________________________________




__________________________________

Original Cross B: Hh X Hh



What are the parents phenotypes: 

_________________________



What are the offsprings Genotypes: & %




__________________________________




__________________________________




__________________________________

F1 Cross: (Just the first generation cross)



Make the following punnett squares and then calculate the 



Phenotypes and % for this generation

1. Hh X hh



2. Hh X HH


3. hh X Hh


4. hh X Hh


_______________________________________


_______________________________________

2. Recessive Trait = r (Wavy)
Dominant Trait = R (Straight)

Homozygous Straight Hair Ram crossed with a Heterozygous Straight Hair Ewe


What does the Punnett Square look like: 


What is the percentage of Straight Hair Offspring? ____________________


What is the genotype percentage break down: 



Genotype
Percentage
Phenotype 



________
______% 
___________________



________
______%
___________________



________
______% 
___________________

Heterozygous Straight Hair Ram crossed with a Homozygous recessive Wavy Hair Ewe


What does the Punnett Square look like: 


What is the percentage of Straight Hair Offspring? ____________________


What is the genotype percentage break down: 



Genotype
Percentage
Phenotype 



________
______% 
___________________



________
______%
___________________



________
______% 
___________________

